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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM 

INTERMEDIATE EXAMINATION - 2015 
इंटरमीडिएट परीक्षा - 2015 

(ANNUAL / वार्षिक) 

ACCOUNTANCY 
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

 

SECTION-A 

ननम्नमरखित प्रश्न सॊख्मण 1 से 40 भें चणय विकल्ऩ है, जिनभें से केिर एक ही सही 
उत्तय है। सही विकल्ऩ कण चनुणि कयें एिॊ उत्तय ऩत्र भें चचजननत कयें 

 

1. आम व्मम िणतण होतण है 

(a) व्मजततगत िणतण 

(b) िणस्तविक िणतण 

(c) नणभभणत्र िणतण 

(d) इनभें से कोई नहीॊ 

 

2. िसीमत को भणननण चणहहए 

(a) दणनमत्ि 

(b) ऩूॉिीगत प्रणजतत 

(c) आमगत प्रणजतत 

(d) इनभें से कोई नहीॊ 
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3. विमिष्ट दणन है 

(a) ऩूॉिीगत प्रणजतत 

(b) आमगत प्रणजतत 

(c) सम्ऩवत्त 

(d) इनभें से कोई नहीॊ 

 

4. एक सॊस्थण द्िणयण प्रणतत चन्दण है 

(a) ऩूॉिीगत प्रणजतत 

(b) आमगत प्रणजतत 

(c) दोनों 

(d) इनभें से कोई नहीॊ 

 

5. चणर ूिणतण है  

(a) व्मजततगत िणतण 

(b) िणस्तविक िणतण 

(c) नणभभणत्र िणतण 

(d) इनभें से कोई नहीॊ 

 

6. सणझदेणयी अनफुन्ध फनणनण है 

(a) अननिणमय 

(b) ऐजछिक 

(c) अॊित: अननिणमय 
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(d) इनभें से कोई नहीॊ 

7. पभय के मरमे सणझदेणय के आहयर् ऩय ब्मणि है। 

(a) व्मम 

(b) आम 

(c) हणनन 

(d) प्रणजतत 

 

8. सणझदेणयी पभय भें रणब-हणनन कण विबणिन ककमण िणतण है। 

(a) फयणफय-फयणफय 

(b) ऩूॉिी अनऩुणत भें 

(c) सभझौते के अनसुणय 

(d) इनभें से कोई नहीॊ 

 

9. रणब-हणनन ननमोिन िणतण फनणमण िणतण है। 

(a) सॊचम कोष के मरए 

(b) िदु्ध रणब के मरए 

(c) विबणज्म रणब के मरए 

(d) इनभें से कोई नहीॊ 

 

10. सणझदेणयों के द्िणयण पभय को हदए गमे अचिभ ऩय ब्मणि है 

(a) विननमोिन 

(b) रणब 

(c) प्रबणय 
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(d) इनभें से कोई नहीॊ 

11. सणभणन्म रणब ऩय औसत रणब कण आचधतम कहरणतण है 

(a) अमबरणब 

(b) ननजश्चत रणब 

(c) असणभणन्म रणब 

(d) सणभणन्म रणब 

 

12. व्मिसणम की प्रमसद्चध के भौहिक भलू्म को कहते हैं 

(a) ख्मणनत 

(b) फचत 

(c) असणभणन्म रणब 

(d) इनभें से कोई नहीॊ 

 

13. ऩनुभूयल्मणॊकन ऩय रणब हणनन को िहन कयते हैं 

(a) ऩयुणने सणझदेणय 

(b) नमे सणझदेणय 

(c) सबी सणझदेणय 

(d) केिर दो 

 

14. ऩनुभूयल्मणॊकन िणतण भें नणभ ऩऺ ऩय िभण ऩऺ कण आचधतम है  

(a) रणब 

(b) हणनन 

(c) प्रणजतत 
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(d) व्मम 

15. सणझदेणय के ऩूॊिी िणते के प्रणयॊमबक िषे को के्रडडट ककमण िणतण है  

(a) ऩूॉिी ऩय ब्मणि 

(b) आहयर् ऩय ब्मणि 

(c) आहयर् 

(d) हणनन भें हहस्सण 

 

16. नमे सणझदेणय द्िणयण नगद भें रणमी गई ख्मणनत की हहस्सण कहरणती है 

(a) सम्ऩवत्त 

(b) रणब 

(c) प्रीमभमभ 

(d) इनभें से कोई नहीॊ 

 

17. सणझदेणय के अिकणि िहर् कयने ऩय, ख्मणनत की ऩयूी यणमि ककसके ऩूॉिी िणते भें 
के्रडडट की िणमेगी ? 

(a) अिकणि िहर् कयने िणरे सणझदेणय के 

(b) िषे सणझदेणयों के 

(c) सबी सणझदेणयों के  

(d) इनभें से कोई नहीॊ 

 

18. रणब प्रणजतत अनऩुणत की गर्नण की िणती है 

(a) प्रिेि के सभम 

(b) अिकणि के सभम 

(c) विघटन के सभम 
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(d) इनभें से कोई नहीॊ  

19. अिकणि िहर् कयने के सभम ऩनुभूयल्मणॊकन के रणब-हणनन को िहन ककमण िणतण है 

(a) फच ेहुए सणझदेणयों द्िणयण  

(b) सबी सणझदेणयों द्िणयण 

(c) नमे सणझदेणयों द्िणयण 

(d) इनभें से कोई नहीॊ 

 

20. A, B तथण C, 5:3:2 के अनऩुणत भें रणब-हणनन फणॉटते हुए सणझदेणय हैं। A अिकणि 
िहर् कयतण है। रणब प्रणजतत अनऩुणत है 

(a) 3:2 

(b) 5:3 

(c) 5:2 

(d) इनभें से कोई नहीॊ 

 

21. भतृक सणझदेणय को देम यणमि चकुणमी िणती है उसके 

(a) वऩतण को 

(b) दोस्त को 

(c) ऩत्नी को 

(d) उत्तयणचधकणरयमों को 

 

22. ककसी पभय के सणझदेणय की भतृ्म ुऩय अजन्तभ बगुतणन होतण है। 

(a) ऩूॉिी िणतण से 

(b) ननष्ऩणदक िणतण से  

(c) चणर ूिणतण से  
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(d) ऋर् िणतण से 

23. भतृक सणझदेणय के ननष्ऩणदक को सणझदेणय की भतृ्म ुनतचथ से देम यणमि ऩय ब्मणि 
हदमण िणमेगण  

(a) 5% िणवषयक 

(b) 6% िणवषयक 

(c) 7% िणवषयक 

(d) 8% िणवषयक 
 

24. सणझदेणयों की सॊमतुत िीिन ऩणमरसी िणतण है  

(a) नणभभणत्र 

(b) व्मजततगत 

(c) दणनमत्ि 

(d) सम्ऩवत्त 
 

25. ऩनुभूयल्मणॊकन िणतण ककस सभम तैमणय ककमण िणतण है ? 

(a) प्रिेि के सभम 

(b) अिकणि के सभम 

(c) भतृ्म ुके सभम 

(d) इनभें से सबी 
 

26. पभय के विघटन के सभम सणझदेणयों के ऩूॉिी िणते की के्रडडट फणकी कण बगुतणन 
ककमण िणतण है 

(a) सणझदेणयों को 

(b) पभय को 

(c) ऩत्नी को 
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(d) इनभें से कोई नहीॊ 

27. सभणऩन व्ममों को िसरूी िणते के ककस ऩऺ भें मरिण िणतण है ? 

(a) दणनमत्ि 

(b) सम्ऩवत्त 

(c) डबेफट 

(d) के्रडडट 

 

28. पभय के विघटन के सभम सम्ऩवत्तमों कण ऩसु्तकीम भलू्म िसरूी िणते के ककस ऩऺ 
भें मरिण िणतण है ?  https://www.bsebstudy.com 

(a) डबेफट ऩऺ 

(b) के्रडडट ऩऺ 

(c) दणनमत्ि ऩऺ 

(d) सम्ऩवत्त ऩऺ 

 

29. िसरूी िणतण है 

(a) व्मजततगत िणतण 

(b) नणभभणत्र िणतण 

(c) िणस्तविक िणतण 

(d) इनभें से कोई नहीॊ 

 

30. पभय के विघटन ऩय सणझदेणयों के ऩूॉिी िणते फन्द ककमे िणते हैं 

(a) िसरूी िणते द्िणयण 

(b) आहयर् िणते द्िणयण 

(c) फैंक िणते द्िणयण 
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(d) इनभें से कोई नहीॊ 

31. पभय के सभणऩन ऩय होने िणरे व्मम को कहते हैं 

(a) िसरूी व्मम 

(b) कणननूी व्मम 

(c) हणननगत व्मम 

(d) इनभें से कोई नहीॊ 

 

32. सणझदेणयों द्िणयण पभय कण ऐजछिक सभणऩन ककमण िण सकतण है। 

(a) फहुभत के ननर्यम द्िणयण 

(b) ¾ सदस्मों के ननर्यम द्िणयण 

(c) ½  सदस्मों के ननर्यम द्िणयण 

(d) इनभें से कोई नहीॊ 

 

33. पभय के सभणऩन ऩय सफसे अन्त भें कौन-सण िणतण फनणनण चणहहए ? 

(a) िसरूी िणतण 

(b) योकड़ िणतण 

(c) ऩूॉिी िणतण 

(d) ऋर् िणतण 

 

34. सभणऩन ऩय ख्मणनत िणतण हस्तणॊतरयत ककमण िणतण है 

(a) िसरूी िणतण भें 

(b) ऩूॉिी िणतण भें 

(c) आहयर् िणतण भें 
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(d) ऋर् िणतण भें 

35. पभय के सभणऩन के सभम चचट्ठे भें दिणयमण गमण सणभणन्म कोष कण िषे के्रडडट ककमण 
िणतण है। 

(a) िसरूी िणते भें 

(b) रेनदणयों के िणते भें 

(c) ऩूॉिी िणते भें 

(d) रणब-हणनन िणते भें 

 

36. चचट्टे भें हदिणई गई योकड़ फणकी कण सभणऩन के सभम हदिणमण िणतण है 

(a) िसरूी िणते भें 

(b) योकड़ िणते भें 

(c) ऩूॉिी िणते भें 

(d) इनभें से कोई नहीॊ 

 

37. पभय के विघटन ऩय फैंक अचधविकषय को हस्तणॊतरयत ककमण िणतण है 

(a) योकड़ िणते को 

(b) फैंक िणते को 

(c) िसरूी िणते को 

(d) ऩूॉिी िणते को 

 

38. पभय के विघटन ऩय, सणझदेणय के ऋर् िणते को हस्तणॊतरयत ककमण िणतण है 

(a) िसरूी िणते को 

(b) ऩूॉिी िणते को  

(c) चणर ूिणते को  
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(d) इनभें से कोई नहीॊ 

39. अॊिों कण ननगयभन ककमण िण सकतण है 

(a) सभभलू्म ऩय  

(b) प्रीमभमन ऩय  

(c) फट्टे ऩय  

(d) इनभें से सबी ऩय 

 

40. सभतण अॊिधणयक कम्ऩनी के होते हैं 

(a) फैंकसय 

(b) रेनदणय 

(c) देनदणय 

(d) स्िणभी 

SECTION - B 

PART - A 

 

1. आम-व्मम िणतण की चणय वििषेतणओॊ को फतणइए। 

2. स्थणमी ऩूॊिी औय ऩरयितयनिीर ऩूॊिी भें अन्तय फतणइए। 

3. ख्मणनत के भलू्मणॊकन की दिणओॊ को फतणइए। 

4. त्मणग कण अनऩुणत औय रणब प्रणजतत अनऩुणत भें अन्तय फतणइए। 

5. X, Y औय Z ककसी पभय भें 4:3:2 के अनऩुणत भें रणब फणॉटते हुए सणझदेणय हैं। Y 
अिकणि िहर् कयतण है। X औय Z बविष्म भें 5:4 के अनऩुणत भें रणबणरणब फणॉटने कण 
ननर्यम कयते हैं। रणब प्रणजतत अनऩुणत ऻणत कयें। 

6. ननम्न ऩरयजस्थनतमों भें आऩ यजश्भ औय बफन्द ुके पभय भें िसरूी व्ममों को ककस प्रकणय 
रेिण कयेंगे? 
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(i) िसरूी व्मम की यणमि रू. 1,00,000 

(ii) िसरूी व्मम की यणमि रू. 30.000 कण बगुतणन यजश्भ ने ककमण। 

(iii) यजश्भ ने िसरूी व्मम कण िहन ककमण है जिसके मरमे उसे ऩणरयतोवषक रु. 70,000 
हदमण िणमेगण। यजश्भ द्िणयण िणस्तविक व्मम रु. 1,20,000 ककमण गमण थण। 

 

PART- B 

7. ऩिूणयचधकणय अॊि एिॊ सभतण अॊि भें अन्तय फतणइए। 

 

8. अॊि एिॊ ऋर्ऩत्र भें अन्तय फतणइए । 

 

9. उियिी मर. ने एक स्थणवऩत व्मिसणम को रु 50,000 भें क्रम ककमण। रु० 15,000 
नगद भें  औय िषे रु. 100 िणरे 9% ऋर्ऩत्रों के ननगयभन द्िणयण 10% के फट्टे ऩय देम 
थे। िनयर प्रविजष्ट कीजिमे।  https://www.bsebstudy.com 

 

10. ऩिूण मर. ने 31 भणचय, 2013 को रु. 2,50,000, 10% ऋर्ऩत्रों कण बगुतणन रणब 
भें से 

ककमण। िनयर के रेिे हदिणइए। 

 

11. वित्तीम विियर् के तमण उद्देश्म हैं ? 

 

12. रुि कम्ऩनी मर. ने रू 10 प्रत्मेक िणरे 35000 सभतण अॊि रु० 2 प्रीमभमभ ऩय 
िणयी ककमे। जिन ऩय देम यणमिमणॉ ननम्नित हैं: 

आिेदन ऩय     रु. 3 

आफॊटन ऩय    रू. 5 (प्रीमभमभ सहहत) 

िषे प्रथभ एिॊ अजन्तभ भणॉग ऩय 
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अॊिों कण ऩरू्य रूऩ से अमबदणन ककमण गमण थण तथण सभस्त यणमि को प्रणतत ककमण गमण | 
आिश्मक िनयर प्रविजष्टमणॉ कीजिए। 

 

13. भोनण मर॰ ने रु० 100 िणरे 4,000.8% ऋर्ऩत्र 10% प्रीमभमभ ऩय ननगयमभत ककमे 
जिन ऩय रु० 20 आिेदन ऩय एिॊ िषे प्रीमभमभ सहहत आिॊटन ऩय देम थे। रु० 500 
ऋर्ऩत्रों के ननगयभन ऩय व्मम हुए। कम्ऩनी की ऩसु्तकों भें िनयर के आिश्मक रेिे कयें। 

 

14. X मर. के 31 भणचय, 2014 को सभणतत हुए िषय के मरए ननम्न रणब हणनन विियर् 
से 'तुरनणत्भक रणब-हणनन विियर्’ तैमणय कीजिए: 

 

र्ववरण      2013-14     2012-13 

प्रचणरन से आम    10,00,000     7,50,000 

अन्म आम     5,00,000     2,00,000 

व्मम      10,50,000     7,50,000 

आमकय की दय 50%  ___     ___ 

 

15. एक पभय कण चणर ूअनऩुणत 2.5:1 है। इसकण तयरतण अनऩुणत 1.5: 1 है। महद चणर ू
दणनमतत्ि रू 15,000 हो, तो चणर ूऩरयसम्ऩवत्तमणॉ एिॊ स्टॉक की यणमि की गर्नण कीजिए। 
अथिण, अनऩुणत विश्रेषर् तमण है ? अनऩुणत विश्रेषर् कण भहत्ि फतणइए । 

 

16. गुडरक मर. के ननम्नमरखित जस्थनत विियर्ों से सॊिोचधत रेिणॊकन भणनक 3 के 
अनसुणय अप्रत्मऺ विचध से योकड़ प्रिणह विियर् तैमणय कीजिए: 

विियर्    31-12-2013    31-12-2014 

अॊि ऩूॉिी     2,25.000     2,50,000 

सॊचम     20,000     35,000 
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रणब-हणनन िणतण    15,000     24,000 

रेनदणय     38,500     50,500 

2,98,500     3,59,500 

भिीनयी     1,20,000     1,60,000 

ख्मणनत     36,000     20,000 

देनदणय     1,19,000     1,54,500 

स्कॊ ध     10,000     15,000 

फैंक भें नगद    13,500     10,000 

2,98.500     3,59,500 

भिीनयी ऩय ह्रणस रगणमण रु० 30,000 

अथिण 

योकड़ प्रिणह विियर् के भहत्ि को स्ऩष्ट कीजिए। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2015 

इंटरमीडिएट परीक्षा - 2015 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

 

SECTION-A 

For the following question nos. 1 to 40 there is only one correct answer against each 

question. Mark the correct option on the Answer Sheet. 

1. Income & Expenditure Account is 

(a) Personal A/c  

(b) Real A/c 

(c) Nominal A/c 

(d) None of these 

 

2. Legacy should be treated as 

(a) liability  

(b) capital receipt  

(c) revenue receipt 

(d) None of these 

 

3. Specific donation is 

(a) Capital Receipt  

(b) Revenue Receipt  

(c) Assets 

(d) None of these 
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4. Subscriptions received by an organisation is 

(a) Capital Receipt  

(b) Revenue Receipt 

(c) Both 

(d) None of these 

 

5. Current Account is 

(a) Personal A/c  

(b) Real A/c 

(c) Nominal A/c 

(d) None of these 

 

6. Making partnership agreement is 

(a) compulsory  

(b) voluntary 

(c) partly compulsory 

(d) None of these 

 

7.  For the firm interest on partner's drawing is a/an 

(a) expense 

(b) income 

(c) loss 

(d) receipt 

 

8. In the partnership firm profit and loss are shared  

(a) equally 

(b) ratio of capital 

(c) according to agreement  

(d) none of these 
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9. P/L Appropriation A/c is prepared 

(a) for reserve fund 

(b) for net profit  

(c) for divisible profit 

(d) none of these 

 

10. Interest on advance given to the firm is  

(a) an appropriation  

(b) profit 

(c) charge 

(d) none of these 

 

11. The excess of average profit over the normal profit is called 

(a) Super profit 

(b) Fixed profit  

(c) Abnormal profit 

(d) Normal profit 

 

12. The monetary value of reputation of the business is called 

(a) goodwill 

(b) surplus 

(c) abnormal profit 

(d) none of these 

 

13. Profit or loss on revaluation is borne by 

(a) old partners  

(b) new partners 

(c) all partners 

(d) only two  
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14. Excess of these credit side over the debit side of Revaluation Account is  

(a) profit  

(b) loss  

(c) reeceipt 

(d) expense 

 

15. The opening balance of Partner's Capital A/c is credited with 

(a) interest on capital. 

(b) interest on drawing 

(c) drawing 

(d) share in loss 

 

16. Share of goodwill brought in cash by the new partner is called 

(a) Assets 

(b) Profit  

(c) Premium 

(d) none of these 

 

17. On the retirement of a partner full amount of goodwill is credited to the capital 

accounts of. 

(a) retiring partner 

(b) remaining partners  

(c) all partners  

(d) none of these 

 

18. Gaining Ratio is calculated  

(a) at the time of admission 

(b) at the time of retirement  

(c) on the dissolution 

(d) none of these 
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19. Profit & loss on Revaluation at the time of retirement is shared by  

(a) remaining partners 

(b) all partners  

(c) new partners 

(d) None of these  

 

20. A, B and C are partners sharing profit & loss in the ratio of 5:3:2 retires The gaining 

ratio is  

(a) 3:2 

(b) 5:3 

(c) 5:2 

(d) None of these  

 

21. The amount due to the deceased partner is paid to his  

(a) Father 

(b) Friend 

(c) Wife 

(d) Executors 

 

22 . On the death of a partner in a firm final payments are made to 

(a) Capital A/c  

(b) Executor A/c  

(c) Current A/c  

(d) Loan A/c 

 

23. The executors of deceased partner will be paid interest on the amount due from the 

date of death of the partner at 

(a) 5% p.a.  

(b) 6% p.a. 

(c) 7% p.a. 

(d) 8% pa 
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24. Joint life policy of the partners is an ............ account. 

(a) nominal A/c 

(b) personal A/c 

(c) liability 

(d) goodwill 

 

25. Revaluation A/c is prepared at the time of 

(a) Admission  

(b) Retirement 

(c) Death 

(d) All of these 

 

26. Payment of credit balance of partners' Capital Account at the time dissolution of a 

firm is made to 

(a) partners 

(b) firm 

(c) wife 

(d) none of these 

 

27. Realisation expenses are recorded in which side of Realisation Account? 

(a) Liabilities  

(b) Assets 

(c) Debit 

(d) Credit 

 

28. At the time of dissolution of firm book value of assets is recorded in which side of 

the Realisation A/c ? 

(a) Debit side 

(b) Credit side 

(c) Liabilities side  

(d) Assets side 
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29. Realisation Account is a 

(a) Personal A/c  

(b) Nominal A/c 

(c) Real A/c 

(d) None of these 

 

30. On the dissolution of a firm. Partners' Capital A/c is closed through 

(a) Realisation A/c  

(b) Drawing A/c 

(c) Bank A/c 

(d) None of these 

 

31. Expenses on dissolution of a firm is called 

(a) Realisation expense  

(b) Legal expense 

(c) Loss expenses 

(d) None of these 

 

32. A firm can be voluntarily dissolved by the partners 

(a) on majority's decision. 

(b) on 
3

4
 on of the members' decision 

(c) on 
1

2
 of the member's decision  

(d) None of these  

 

33. On firm's dissolution, which one of the following A/cs should be pre-pared at the 

last? 

(a) Realisation A/c 

(b) Cash A/c 

(c) Capital A/c 

(d) Loan A/c 
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34. On dissolution. Goodwill A/c is transferred to 

(a) Realisation A/c. 

(b) Capital A/c 

(c) Drawing A/c 

(d) Loan A/c 

 

35. At the time of dissolution of a firm. Balance of general reserve show in the Balance 

Sheet is credited to 

(a) Realisation A/c 

(b) Creditors A/c 

(c) Capital A/c  

(d) Profit & Loss A/c 

 

36. Cash balance shown in the Balance Sheet is shown on dissolution of firm in 

(a) Realisation A/c  

(b) Cash A/c 

(c) Capital A/c 

(d) None of these 

 

37. On dissolution of a firm, Bank overdraft is transferred to 

(a) Cash A/c 

(b) Bank A/c  

(c) Realisation A/c 

(d) Capital A/c 

 

38. On dissolution of a firm. Partners' Loan A/c is transferred to 

(a) Realisation A/c  

(b) Capital A/c  

(c) Current A/c 

(d) None of these 
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39. Shares may be issued  

(a) at par  

(b) at premium  

(c) at discount 

(d) all of these 

 

40. Equity shareholders are.................. of the company 

(a) Bankers 

(b) Creditors 

(c) Debtors  

(d) Owners  

SECTION-B 

PART - A 

 

1. State four features of Income and Expenditure Account. 

2. Distinguish between fixed capital and fluctuating capital. 

3. Explain the steps for valuation of goodwill. 

4. Distinguish between Sacrifice Ratio and Gaining Ratio. 

5. X, Y and Z are partners sharing profits in the ratio of 4: 3; 2. Y retires. X and Z 

decided to share profits and losses in future in the ratio of 5:4. Calculate gaining ratio. 

6. How will you deal with the realisation expenses of the firm of Rashmi and Bindu in 

the following cases: 

(i) Realisation expenses Rs. 1,00,000  

(ii) Realisation expenses of Rs. 30,000 paid by Rashmi. 

(iii) Rashmi bears Realisation expenses for which she will be paid Rs. 70,000. The actual 

expenses incurred by Rashmi were Rs. 1,20,000,  

PART-B 

7. Distinguish between preference share and equity share. 

8. Distinguish between shares and debentures.  

9. Urbashi Ltd. purchased an established business for Rs. 50,000 payable Rs. 15,000 in 

cash and the balance by issue of 9% debentures of Rs. 100 at a discount of 10%. Show 

journal entries. 



https://www.bsebstudy.com 

10. On 31st March, 2013 Puja Ltd. redeemed Rs. 2,50,000, 10% debentures out of 

profits. Show the Journal entries. 

11. What are the objectives of financial statement?  

12. Rudra Company Ltd. issued 35000 equity shares of Rs. 10 each at a premium of Rs. 

2 payable as follows:  

On application    Rs. 3 

On allotment  Rs. 5 (including premium) 

The issues were fully subscribed and all the moneys were duly received, Record 

necessary Journal entries.  

 

13. Mona Ltd. issued 4,000, 8% debentures of Rs. 100 each at a premium of 10% 

payable Rs. 20 on application and the balance with premium on allotment. Expenses on 

issue of debentures were Rs. 500. Pass necessary Journal entries.  

 

14. From the following statement of profit and loss for the year ended 31
st
 March, 2014, 

prepare a comparative statement of profit and loss of X Ltd:  

Particulars    2013-14 2012-13  

Revenue from operation  10,00,000 7,50,000 

Other income   5,00,000  2,00,000 

Expenses    10,50,000 7,50,000 

Rate of Income Tax 50% 

 

15. A firm's current ratio is 2.5: 1. Its liquid ratio is 1.5: 1. If current liabilities are Rs. 

15,000, calculate the amounts of current assets & stock. https://www.bsebstudy.com 

Or 

What is Ratio Analysis? Explain the importance of Ratio Analysis.  

 

16. From the following Balance Sheets of Goodluck Ltd., prepare cash flow statement 

according to Revised Accounting Standard-3 by indirect method: 

Particulars    31-12-2013  31-12-2014 

Share capital  2,25,000  2,50,000 

Reserve    20,000  35,000 

Profit & Loss A/c  15,000  24,000 
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Creditors   38,500  50,500 

    2,98,500  3,59,500 

Machinery   1,20,000  1,60,000 

Goodwill   36,000  20,000 

 

Debtors   1,19,000  1,54,500 

Stock     10,000  15,000 

Cash at bank  13,500  10,000 

    2,98,500   3,59,500 

 

Depreciation charged on machinery Rs. 30,000.  

Or 

Explain the importance of cash flow statement. 

 


